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10-1. ������ABCD ���� S ���� a1, a2, a3 ����
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S2 − 2a3S − 4a1a2 = 0.

10-2. ��������������������������
����� 345 �������������������
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1302, 1400, 1548, 1606, 803, 962, 1003, 1423, 1545, 1863
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10-3. ��������	� r ������
��� (0, 0, 0)��
���� (0, 0, r)���������

(1) �
�	� θ��� φ ������

(r cos θ cos φ, r sin θ cosφ, r sin φ).

(2) ������� A, B ��
 O �����������

���
������	� r ������ ÂB 
��


������ A, B ������
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(a) ����	� 0◦ ���	� θ��� φ��������

(b) ����	� r �� 6300�	�� A ������	�

0◦ ��� B ��	� 45◦��� 45◦ ������ A, B
������

10-4. �

f(x) =

(−x2 − x + 3
) (

2x2 + 2x + 3
)2

+ 4
(
x2 + x

)3

x2 + x + 1
.

(1) �
�� f(0), f(1), f(2)�

(2) �������� f(x)�

10-5. Æ��� a, A, b, B, c, C ��

a + A = b + B = c + C = l.

��

aB + bC + cA < l2.
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